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In the class, I used

∫
∣s∣>a

exp(−
πs2

δ
)dx→ 0,

as δ goes to zero. This note corrects a mistake in the proof given in class. Assume a > 0.

∫
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a
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(exp (−πs2/δ) exp (πa2/δ))ds. exp (−πa2/δ) (1)
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2
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In the second last step (the inequality), we replaced x + a by x − a, both quantities are
positive in the range of interest, and we have (x + a)(x − a) ≥ (x − a)(x − a) for x > a
whenever a is positive. The last step is from a change of variables u = x − a.

The above inequality will ensure the convolution with a limiting Gaussian (δ → 0) will
give us the function value at t = 0, hence the proof. Please ignore the alternate arguments
that we had in class.




